H

[0}
L) HEDOEH

P
=117 (&)&L)

v 2)282

v 3)933

- 3)336

[1]

3)633

2)846

)77

=

2)464

° 5)555

v 3)669

(1/4)



H

[0}
L) HEDOEH

P
3iFr+=1107= (& L) [1]

®
v 3)963 ° 2)228 2)466

v 4)844 B 3)399 ° 2) 664

- 9)999 ¢ 2)226 v 2)488

(2/4)



H

[0}
L) HEDOEH

PR
Sitr==1117- (%}Uf‘@t) [1]

®
v 4)848 ° 3)333 3)699

v 2)244 B 3)936 © 4)484

- 2)822 3)363 v 3)696

(3/4)



H

[0}
L) HEDOEH

P
3iFr+=1107= (& L) [1]

®
v 3)969 ° 2)468 2)242

v 2)868 o 3)396 ° 2) 688

- 2)444 o 3)993 v 2)284

(4/4)



P
3iFr+=1107= (& L) [1]

D 141
27282
9

211

232

111

(1/4)



P
3iFr+=1107= (& L) [1]

© 3971 P 114
3796 3 27228
9 2
5 2
6 2
3 3
3 8
0 0
@ ®
211 133
4)844 37399
8 3
1 9
4 9
7] 9
_ 4 _ 9
0 0
RS Yy
979909 27226
9 2
5 7
9 2
9 6
_ 9 _ 6
0 0

233

(2/4)



PR
S3iFr==1177 (%?U?/‘i’{f\(,) [1]

© 999 R
47848 37333
3 3

7] 3
4 3
3 3
38 3
0 0
Y199 R
27244 37036
2 9

7] 3
4 3
1 6
_ 4 __ 6
0 0
D41 ® 19
27822 37363
8 3

5 6
2 6
5 3
2 3
0 0

233

(3/4)



P
3iFr+=1107= (& L) [1]

© 393 P 934
37969 27468
9 4

5 6
6 6
9 3
9 8
0 0

@ ®

434 132
2]868 31396
8 3

6 9
6 9
3 6
38 _ 6
0 0
D999 ¥ 331
oJ444 37993
4 9

7] 9
4 9
7] 3
4 3
0 0

(4/4)



	3-1-1warizan-3
	3-1-1warizan-3a

